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Name ' Date  Class

ionic Bonds

¢ Understanding Main Ildeas

Answer the following questions on a separate sheet of paper.
1. How does an atom become a positive ion? How does an atom become a
negative ion?
2. How do ions form electrically neutral compounds?
3. What characteristics do solid ionic compounds share?

4, How does the electrical conductivity of ionic compounds change when they
are melted or dissolved in water? Why is this so?

lons and Their Charges
Name Charge | Symbol/Formula
Ammonium | 1+ NHy*
Potassium 1+ K+
Calcium 2+ Ca?™
Magnesium | 2+ Mg?*
Chloride 1— Cl~
Oxide 2— 02~
Sulfide 2— §2-
Phosphate 3— PO~

Use the chart above to answer the following on a separate sheet of paper.
5. How many potassium ions are needed to balance the charge of one sulfide
ion? Explain.
6. Predict the formulas for calcium chloride and potassium phosphate.
7. Name the following compounds: MgS, NH,Cl, and K0.

8. Which ions in the table are polyatomic ions?

¢ Building Vocabulary

Answer the following questions on a separate sheet of paper.
9. What is an ion?
10. What is an ionic bond?

11. What is the arrangement of ions in a crystal?
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Group 1 lose one electron; atoms from Group 2 lose two electrons, It takes energy
to remove an electron from an atom. Some atoms hold their electrons tighter

than others do. Also, an individua] atom holds some of its electrons tighter than
others.

L4
Answer the Jollowing questions on 4 separate sheet of paper. Group 1 Group 2 '
L. What do you notice about atomic radius as you move down a group? 2 @ ]
AS you move across a period from Group 1 to Group 2? 152 12 )
3 2,
2. Which element would you expect to be the most reactive in Group 1? 186 160 , P
In Group 2? Explain your answer, 4 @ : s
: \/
. . . 227 197 b
3. In each period, which element of the pair would you expect to be
Imore reactive? Explain your answer, 5 @ “ ¢ i
‘ 248 215 ® ¢ h
4. As you go across the periodic table, atomic radius continues to 3 =  ¢B
. . 2
decrease. How does this fact help explain why the atoms of noble 6 @ g I St
gases don’t react easily with other atoms? 55 222 I 2 di
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